
D1：Jeff　D2：Tony　D3：Mike

L：Logcar ,  W：Waycar ,  C：Caboose ,  P：Poter class ,  S：Shay class ,  B：Boxcar

Rate=20 1min→3sec  10min→30sec  8hs→24min D1 D2 D3
Rate=15 1min→4sec  10min→40sec  8hs→32min P1 P2 S1
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D1 P1C:ABC(-C+L)B(-L+L)DB(-L+L)DBABDB(-L+B)CBDB(-B+L)CB(-L),S1L2B:A(-B)B(-L2+L3)A(+B)B,P2L:CB(-L+L)DB(-L+L)D(-L+W)BA

D2 P2W:ABD(-W+L)B(-L+L)CB(-L+L)CB(-L),S1L3:A(+B)B(-B)AB,P2L:CB(-L+L)CBABDB(-L+L)DB,P1B:DBCB(-B+L)C(-L+C)BA

D3 S1L4:AB(-L4+L2)AB,P2L:DB(-L+L)CB(-L+L)DB(-L+L)DB(-L+L)CBABCB,S1L3:A(-L2)B(-L1+L2B)A
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